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QUESTION 1

Using vSphere HA Orchestrated Restart an administrator places the most mission critical VM in the highest priority.
After a host failure, the highest priority VM fails to restart while VMs in high priority restart.

What would cause this to occur?

A. There are insufficient cluster resources.

B. Performance degradation VMs tolerate threshold is at default.
C. VMware Tools is not installed.

D. Proactive HA is disabled.

Correct Answer: C

QUESTION 2

An administrator suspects poor VM performance. The administrator runs esxtop and sees the following output from the
CPU and memory screens:

6:48:19pm up 4:22, 528 worlds, 8 VMs, 16 vCPUs, CPU load average: 0.26, 0.36, 0.16 VMKMEM/MB: 8151 managed:
407 minfree, 3055 rsvd, 5095 ursvd, high state

What can the administrator conclude from this output?
A. The host has too many worlds running.

B. The host is ballooning.

C. The host has adequate memory.

D. The host is under CPU pressure.

Correct Answer: C

QUESTION 3

Which action should be taken to secure ISCSI devices in a vSphere environment?
A. Require Secure Remote Protocol.

B. Require ESXi hosts to use ISCSI port binding.

C. Require vCenter Enhanced Linked Mode.
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D. Require ESXi hosts to authenticate to the target.
Correct Answer: D

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.security.doc/GUIDDFC745FB-
CDD6-4828-8948-4DOE0561EEF8.html

QUESTION 4

What are two advantages of deploying a VDS as compared to a VSS? (Choose two.)

A. Data center setup and administration are simplified by centralizing network configuration.
B. There is IPv6 support for a VDS.

C. 802.1Q tagging support is available.

D. Uplinks are allowed to be configured in an Active/Standby configuration.

E. Ports migrate with their clients.

Correct Answer: AE

QUESTION 5

What is a requirement when installing ESXi 6.77?
A. NX/XD bit enabled for the CPU in the BIOS
B. minimum of 8GB of physical RAM

C. datastore for scratch partition

D. minimum of four CPU cores

Correct Answer: A
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